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Solve the equation. Check for extraneous solutions.

1. 3x— 1?3 +4=52 2.2+ 43 +7=-9
4. 13— 1t -3 =1 5. 3(2x + 32 +2=—7
Solve the equation. Check for extraneous solutions.
7.3/ix—5+1=7 8.4— /3x+1=5
10. Vx> +3—-5=4 M. 2Ux*—-1+4=10

Solve the equation. Check for extraneous solutions.

13. 3x+7= Y2+ 1 14. Si+x=—-J2x+3

16. V32 — 12x+10=2x—5 17. 422 — 1 =x

19. 232+ 14=x—-1 20. 43+ x*—4=x
Solve the equation. Check for extraneous solutions.

22. Jx+3=4-x 23 Jx—5=2+ Jx
25. V5x+1=3— 5 26. V2x+1 =1+ /2x

28. Geometry The lateral surface area of a cone is given by
S = ar</r*> + h?. The surface area of the base of the cone is
given by B = 712, The total surface area of a cone of radius
3 inches is 24 square inches. What is the height of the cone?

29. Geometry A container is to be made in the shape of a cylinder
with a conical top. The lateral surface areas of the cylinder and
cone are S; = 27rh and S, = 27r</r? + h?. The surface area of
the base of the container is B = mr2. The height of the cylinder
and cone are equal. The radius of the container is 5 inches and its
total surface area is 2757 square inches. Find the total height of
the container.
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3. —(x+3)+5=1
6. 1(2x + 3032 —2=7

9. 1J2x—3+3=6
123¥T-2+1=-8

15. Vx—T7=x—17

18. 3/9x +19=x+1
2. —Vx—3=x-—-15
24. x—5=2—- Ux

27. V2x+3=1+JVx+1
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